Day 3 - More and&or Practice.notebook May 15, 2019

Day 2 Homework Answers:

1. 1/12

2.  1/32; | would be suspicious because the likelihood of this
happening is pretty low (3%)

3. 1/216; | would be very suspicious because the likelihood of
this happening is extremely low (.5%)

4. .2905

5a. Yes because one spinner result does not affect the next.
b. .0625
c. .004

d. .237
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Day 2 Homewark Answe rs

Use the Multiplication Rule for Independent Events

1. A number cube has faces numbered 1 through 6, and a coin has two sides, heads and
tails. Find the probability that the cube shows a 4, and the coin lands heads.

Are the events independent? léas CUJOQ (O"I dOCS h0~(_ O:G&c;(-

CoMm (o\r\d reV’éme)

The P(4 and a head) = () % P(H)
= X A
(o y

2. If you toss the coin five times, what is the probability you will see a head on all five
tosses?

WRHAH ) = 5xaxIxgxt (E) ~ p3 -39

If you tossed the coin five times and got five heads, would you think that this coin is a
fair coin? Explain.

3. If you roll the number cube three times, what is the probability that it will show 4 on
all three rolls?

Mt )= C* e ¢= ¢ ~ 005 ~.57,

If you rolled the number cube three times and got a 4 on all three rolls, would you
think that this number cube is fair? Explain.

4. Suppose a credit card company states that when a customer is selected at random, the
probability that the customer pays his or her bill in full each month is 0.35, the
probability that the customer makes regular online purchases is 0.83, and these two
events are independent. What is the probability that a randomly selected customer

pays his or her bill in full each month and makes regular online purchases?

P( F and D) = (;’?F\ A ?(OD
AS X 83
. 2905

\

)
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5. A spinner has a pointer, and when the pointer is spun, the probability that it stops in the
red section of the spinner is 0.25.

a. If the pointer is spun twice, are the 2 events independent? Explain.
. \
&ge% - on spin doesn t O\‘Q"Q_ECXL e
prob- of the next spin

b. If the pointer is spun twice, what is the probability that it will stop in the red section on
both occasions?

P, =.35x% 325 ~.06aS

c. If the pointer is spun four times, what is the probability that it will stop in the red

section on all four occasions? (Round your answer to the nearest thousandth)

P RRR) = .85 x .25x .25 x.25 7004

d. If the pointer is spun five times, what is the probability that it never stops on red?
(Round your answer to the nearest thousandth)

t(aot)= (=P(RY= /=25 =.73

P(act R et~ nofK ot & not Ry = 75x.73 .75 X. 75 x. %2
| | ’ ’ =" d3)
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Day 3 - More Probability and/or Practice

1. A number cube has faces numbered 1 - 6.
a. If the number cube is rolled once, then the events the result is even and

the result is 5 are d\S\j ont (disjeint or not disjoint?).
Explain. \\,-('ua“ Exelusive
Cott ke losth Even mubually
and & (Ve bo.H\)‘

loo]

b. The events the result is even and the result is greater than 4 are
Net d(sja',n-{- (disjoint or not disjoint?). Explain.

C(!“ be (DOW Even qﬂo’ gr@a"t’r %Q” Lf
— Ex:
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2. A set of 40 cards consists of:

o0 10 black cards showing squares 10 red cards showing star

black cards showing diamondsZ<S o 10 red cards showing diamon

a. A card is selected at random from the sef.

card is black or shows a star.
R (Black or Star) = elack) = P( sw) _w
'10

0¥
+ b\ésd

-
-

30
EC)

b. A card is selected at random. Find the probability that the card is red or
shows a diamond.

P(Rd o ﬁbmoncﬂ> = P(Rd) + b\omond) P( Rud and D|av9
= 22 y 20 _ 10 @o\(&
;‘g o ~— 4o il

)

-
-
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3. When a call is received at an airline’s call center, the probability that it comes
from abroad is 0.32, and the probability that it is to make a change to an
existing reservation is 0.38. The probability that a call is both from abroad
and is to make a change to an existing reservation is 0.15. Calculate the
probability that a randomly selected call is either from abroad or is to make a

change to an existing reservation.
;( abroad oi Cnangz 2”53 = ?(obrond> +2(changc Rus) —e( Baﬁ)
'k'
1))

= .32 + ,383-.15 O
O

.

- .55 63
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4. An animal hospital has 5 dogs and 3 cats out of 10 animals in the hospital. What
is the probability that an animal selected at random is a dog or a cat? Think:

Could an animal be both a dog and a cat? M
R (b or O) = ey ¥ <) - )
Y

-

= = 4 2

1o [=
£
1O

—
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Homewors- Do Wﬁf@z}f

*%b?(l"D = 9(701\0\_0: 45—)(:%-: :;;_'\5'

— o and 5) or P(5a00(7)
Q ?(\?3 = ?(\ia:i(a> - ?(7 od ) (s

L)+ (e T (303)

=
a5
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Day 3 Homework Answers:

1. C 5. 45/100
2. C 6. .35,.85
3. 3/25 7. 7/10
4
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